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Find the voltage v of the following network by superposition.
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Solutions:
(i) With the action of the 3A current source only, the circuit reduced to the following:
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Thevsa canbefoundas v,, = 3x%x1x1:1v
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(i) With the action of the 6V voltage source only, the circuit reduced to the following:
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Thevey canbefoundas v, = 6x——x=x=x1==V
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(iif) With the action of the 6A current source only, the circuit reduced to the following:
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The vea canbefound as v,, =(-6)
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By using superposition, the voltage v is simply the sum of above three results.
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